04524 R E | RZENBEDNITH

7= Gk e

M

BERFFZE TR A ARN.

I

BERFMFE THELELE | B6,

BR:

BEXENBREMNAHEAHRTZERE, HEEEHTLUREIR X
HEEFH,

ALLERERZRWIHREFRERERARIANE T EHEP, BIITA
REER  MARRER4LEABS , HFITHRET AR,
BEERA , SRR B RE B MIEIME,

BHEE

M8 = £0.5 mm
M10 = +1.0 mm
M12 = +£1.0 mm
M16 = 1.5 mm

RERT
D) B4k 1242 DIN 6912

1) REE B
2) REEAE
3) Bk E
4) TH

5) BIE#R

>~

1\ 'y

_/D

© norelem www.norelem.com




04524 R E | RZENBEDNITH

BRE  BEHEK

04524-1108 b XX 30,5 33,5 24 | 15 M8X25 2 15 25
04524-1110 K& XXE 32 37 28 | 19 M10X25 3,5 20 49
04524-1112 b XX 44 49,5 30 | 22 M12X40 3,5 30 85
04524-1116 *E XX 55 62 40 | 29 M16X60 4 50 210
04524-2108 wmE R 30,5 33,5 24 | 15 M8X25 2 15 25
04524-2110 NE X 32 37 28 | 19 M10X25 3,5 20 49
04524-2112 mE XNE 44 49,5 30 | 22 M12X40 3,5 30 85
04524-2116 N XXE 55 62 40 | 29 M16X60 4 50 210
04524-1208 b X 30,5 33,5 30 | 15 M8X25 2 15 25
04524-1210 K& RE 32 37 38 | 19 M10X25 3,5 20 49
04524-1212 b= XE 44 49,5 48 | 22 M12X40 3,5 30 85
04524-1216 K& XNE 55 62 48 | 29 M16X60 4 50 210
04524-2208 ] XX 30,5 33,5 30 | 15 M8X25 2 15 25
04524-2210 NE X 32 37 38 | 19 M10X25 3,5 20 49
04524-2212 wE RE 44 49,5 48 | 22 M12X40 3,5 30 85
04524-2216 NE XXHE 55 62 48 | 29 M16X60 4 50 210

© norelem www.norelem.com



